Whitman College 
Econ 358 
November 19, 1999 
Exam 3 


Write all answers in your blue book. Show all of your work. 



For questions 1 through 6, suppose that the Capital Asset Pricing Model assumptions hold, and consider the following information. 

Three of the many securities in the market portfolio (M) are called A, B and C. 
The standard deviation of A is 0.30. The standard deviation of B is 0.15. The standard deviation of C is 0.20. The covariance of A with B is 0.03. The covariance of A with C is 0.05. The covariance of B with C is 0.01. The covariance of A with M is 0.01. The covariance of B with M is 0.02. The covariance of C with M is 0.03. The expected return on M is 13%. The variance of M is 0.04. The risk-free rate is 3%. 




1. (15pts) Find the expected return for each of securities A, B and C. 


2. (a) (20pts) Find the minimum variance portfolio of securities B and C. 
(b) (5pts) What is the variance of this portfolio? 
(c) (5pts) What is the expected return of this portfolio? 


3. Consider a particular portfolio composed of securties A, B and C, and nothing else. The portfolio includes $100 of A, $400 of B and $500 of C. 
(a) (15pts) What is the variance of this portfolio? 
(b) (15pts) Show whether or not this particular portfolio produces a diversification effect. 


4. (20pts) If someone wants an expected return of 15%, what portfolio would he hold? 


5. (20pts) If some were willing to put up with a standard deviation of 5%, but no more than 5%, what portfolio would he hold? 


6. (10pts) If M is normally distributed, 95.44% of the observations of M's return will lie within what range? 


7. (a) (10pts) Describe the equity premium puzzle of the 1980's. 
(b) (5pts) What happened in the 1990's to the equity premium puzzle?
